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(3 IR BEERE 35 36 71
20ir BN K& )14 34 37 71
RIA YR 3 BEERE 38 37 75
ANE g e ) vE 39 37 76
5L FH A ESN] 39 38 77
6L WEA FHE BEERE 40 38 78
(i Nk FH ESINN 38 41 79
(DA LR R ESN] 37 42 79
L KN Dkl BEERE. 36 44 80
9L HH O E=—BR T 41 39 80
1147 R KR s 39 42 81
1147 KA #iE 7)1 g 40 41 81
13fi7 HHEF 5L i 43 39 82
14h7 7K H - FKERR ) vE 41 42 83
1447 g HJE BEERE 41 42 83
A #% FH IE )17 42 41 83
171 Zafe3E B RA 71| 39 45 84
1747 W M A 25 2R 42 42 84
L7ThE JERJE AR S FINvE 39 45 84
20037 N 5 )N 44 41 85
2147 VEE A U L 43 43 86
2203r V—=T7 i ay BEERE 38 49 87
220r JUJE Fh ) va 42 45 87
2441 B Ak AL 47 42 89
2511 /NEHE FESE )N 46 46 92
2617 AH AR F)1| 45 48 93
27hL B Bl S 46 48 94
287 AN NN nesFe 47 48 95
2811 fh% & #1176 50 45 95
3002 WA Ak HeHf] 49 48 97
300 oy R e 50 47 97
3217 LR T e[S 52 49 101
33fi7 B IR e 48 55 103
344L W HEE e 50 54 104
35{i /NTE Sl — B & 55 54 109
360 AT HEE ZE 54 56 110
RYLIA TN EBR e[S 61 50 111
387 s AR e 60 54 114
39fir I fE KRR P e o o 56 59 115
390 G By +J= 55 60 115
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(637 il KA iy 34 36 70
2L HH Ui 39 32 71
3L /NTE - B INEF 39 33 72
3L tEH = BEERE 36 36 72
YA WORE LR 39 35 74
A Ll = AKX 43 33 76
L M kg eS| 38 39 77
(i W H] SR 38 39 77
9L e KFn B2 37 41 78
L Mot ff= BEERE 39 39 78
L HE ES = 37 41 78
1241 AR ) U S 39 40 79
131 HE Fnk FA L e 39 41 80
L44T & Bk B2 43 38 81
157 PeflmEs BEERE 41 41 82
16/ SRR FnfE -t 45 40 85
174 sk G 42 44 86
18fr Il B b ] 41 46 87
18 | I e RN — 44 43 87
2007 e HR 46 43 89
2007 FHE =2 KRR TIRKRAT R 45 44 89
2072 B Ak AL 49 40 89
200 | M EE BlR 45 44 89
207 KR ST )G 44 45 89
2507 I e R 45 46 91
26{77 ESE | T ekl 45 48 93
2607 Y BA ES)/S3 47 46 93
28f% [ BEEREE 46 48 94
29{i7 A Kk G 49 48 97
2901 +4& IEW BERSE Sl 50 47 97
31N AR 2B FINFE— 57 52 109
3231 LSNP3 iyl 50 60 110
33 ATH i ASHD HLEB 51 61 112
3447 (e S G 64 49 113
3511 Bl HEIK sl 58 56 114
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B HRH E A H 33 37 70
20 WHE E R A 33 38 71
3L A A A 34 38 72
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A I AAS R B 36 41 77
TIE NS g TNV = 35 43 78
(LA %N Bk P/ 39 39 78
L wmE 1FofE s 36 43 79
1042 HE PR ARA 42 38 80
10z BH JtH ARKH 38 42 80
102 g SAZ RE 37 43 80
131 EELSA ey silel 43 38 81
131 BA i ey 40 41 81
157 R £ FAILIRE A 39 43 82
16{ir ] I A, A& 39 44 83
16{ir Jrid] RN e TR 44 39 83
186 | A% EAE &) 43 41 84
1947 BB AT TN 44 42 86
1947 HAT 2R RGeS 39 47 86
214L R EA RS 42 45 87
2147 Jrf - JEAS RS 41 46 87
2147 AT 8 BEESE 2 43 44 87
2147 K& FT1 HERSE A= 43 44 87
25f% HH 5T BB 42 46 88
26/L D FE)h1 R TR 45 44 89
27HL KA AT HERrSE A 49 43 92
27HL FE HE SLEH 42 50 92
27{if ] iy Fnrp 43 49 92
3031 e Ay kN 44 49 93
31T PO uRGE BT EA 46 48 94
3IAL AR S AL REH 44 50 94
33\ e Xx o 46 49 95
344 M BE B EA T 49 55 104
3511 P kEJh ey sl 53 52 105
36111 b R RS 53 56 109
3T FAJR MEFE FH AR 49 61 110
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